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Subject:   Statistics.             Class:  I1	Day: Saturday , Nov. 16, 2024

Chapter: 5.  Revision of index numbers
Learning Objectives:  The students will be able to
I)  describe simple and composite index numbers
II)  Price and quantity index numbers

A) Warm up: 

       Teacher will ask questions about simple and composite index numbers

I) What is the u use of index numbers in our daily life
calculate the Price Index, take the price of the Market Basket of the year of interest and divide by the price of the Market Basket of the base year, then multiply by 100. In this case we're interested in knowing the price index for 2007 and we plan to use 2006 as the base yea
Price Relative = Pn/Po * 100

Quantities, consumption volume, exports, etc can be some of the other relatives. In such cases, the formula to calculate relative is:

Quality Relative =  Qn/Qo
Simple Aggregative Method:

In this method, the index number is equal to the sum of prices for the year for which index number is to be found divided by the sum of actual prices for the base year.

The formula for finding the index number through this method is as follows:



2. Simple Average of Price Relatives Method:

In this method, the index number is equal to the sum of price relatives divided by the number of items and is calculated by using the following formula:
Simple Average of Price Relatives Method:

In this method, the index number is equal to the sum of price relatives divided by the number of items and is calculated by using the following formula:


Simple Average of Price Relatives Method:



. Weighted Average of Relatives Method:

In this method also different weights are used for the items according to their relative importance.


The price index number is found out with the help of the following formula:
numbers on the basis of quantity weights.


Following are the numerical examples
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QNO.  5.6, 5.8, 5.11, 
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(i) Laspeyre’s Formula. In this formula, the quantities of base year are accepted as weights.
ZPigg
Py = =% x 100
' ZRygy
Where Py is the price in the current year ; Py is the price in the base year ; and qq is the quantity
in the base year.
(if) Paasche’s Formula. In this formula, the quantities of the current year are accepled as weights.
Py
Py =Rt 100
ZPogy
Where g, is the quantity in the current year.
(i) Dorbish and Bowley’s Formula. Dorbish and Bowley's formula for estimating weighted index
‘number is as follows :

ZPgo , ZPq;
Por ,Mx 00 o e L;f’

Where L is Laspeyre’s index and P is paasche’s Index.
() Fisher's Ideal Formula. In this formula, the geometric mean of two indices (i.c., Laspeyre’s Index
and paasche’s Index) is taken

100 or  Po=VIXPx100

where L is Lespeyre’s Index and P is paasche’s Index.

Exampl
Base Year Current Year

Comm- Pogo P1g Pogi Pigy
odity Po % Py a

A 10 5 20 2 50 100 20 40

B 15 4 25 8 60 100 120 200

¢ 40 2 60 6 80 120 240 360

D 25 3 40 4 EA] 120 100 160

Total 265 440 480 760
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(i) Laspeyre’s Formula
o = 20y g9
Podo

o =205 100 = 16604
265




